CITY OF APPLETON

Department of Public Works

MEMORANDUM

Finance Committee Municipal Services Committee Utilities Committee								
SUBJECT: Aware	d of Contract							
The Department of	of Public Works re	commends tl	hat the follow	wing described	work:			
Unit X-22 Sewer &	Water Reconstruct	tion #2						
Be awarded to:								
	Name: Kruczek Construction Inc.							
Address:	3636 Kewaunee R							
	Green Bay, WI 54	311						
	:		8877,777.77					
With a <u>7.5</u> %	contingency of : _		\$65,833.33					
For a project total	l not to exceed: _	\$	943,611.10					
** OR **								
In an amount Not	To Exceed:							
Bu	dget:\$	6661,325.00						
Estir	mate:\$	5877,500.00						
Committee I	Date:	04/11/22						
Council I	Date:	04/20/22						

Bid Tabulation X-22 Water Main Reconstruction 03/21/2022 01:45 PM CDT

Bid Item	Item Description	Quantity	Unit	Kruczek Construction Inc.		Advance Construction Inc.	
				Unit Price	Item Total	Unit Price	Item Total
1	12" Water Main	1950	lin. ft.	\$109.50	\$213,525.00	\$120.00	\$234,000.00
2	8" Water Main	2850	lin. ft.	\$81.50	\$232,275.00	\$109.00	\$310,650.00
3	6" Hydrant Lead	60	lin. ft.	\$132.00	\$7,920.00	\$80.00	\$4,800.00
4	Hydrant	7	each	\$5,700.00	\$39,900.00	\$5,236.00	\$36,652.00
5	12" Gate Valve	7	each	\$4,490.00	\$31,430.00	\$3,939.00	\$27,573.00
6	8" Gate Valve	14	each	\$2,540.00	\$35,560.00	\$2,235.00	\$31,290.00
7	6" Gate Valve	8	each	\$1,825.00	\$14,600.00	\$1,607.00	\$12,856.00
8	4" Gate Valve	1	each	\$1,530.00	\$1,530.00	\$1,351.00	\$1,351.00
9	12" Bend	8	each	\$1,050.00	\$8,400.00	\$1,000.00	\$8,000.00
10	8" Bend	20	each	\$500.00	\$10,000.00	\$490.00	\$9,800.00
11	1" Service	600	lin. ft.	\$81.75	\$49,050.00	\$78.50	\$47,100.00
12	1 1/2" Service	140	lin. ft.	\$81.25	\$11,375.00	\$49.00	\$6,860.00
13	4" Service	30	lin. ft.	\$164.00	\$4,920.00	\$104.50	\$3,135.00
14	6" Service	30	lin. ft.	\$181.00	\$5,430.00	\$120.50	\$3,615.00
15	Service Connection	40	each	\$555.00	\$22,200.00	\$653.00	\$26,120.00
16	Curb Box (Complete)	40	each	\$400.00	\$16,000.00	\$159.00	\$6,360.00
17	Pav't Markings Yellow 4"	250	lin. ft.	\$3.50	\$875.00	\$3.50	\$875.00
18	Pav't Markings White 4"	250	lin. ft.	\$3.50	\$875.00	\$3.50	\$875.00
19	Pav't Markings channel 8"	100	lin. ft.	\$5.75	\$575.00	\$5.75	\$575.00
20	Pav't Markings Crosswalk 6"	20	lin. ft.	\$8.50	\$170.00	\$8.50	\$170.00
21	Pav't Markings Stop Line 18"	20	lin. ft.	\$15.00	\$300.00	\$14.75	\$295.00
22	Pav't Markings Symbols/Arrows	4	each	\$275.00	\$1,100.00	\$275.00	\$1,100.00
23	Type "D-M" Inlet Protection	19	each	\$100.00	\$1,900.00	\$100.00	\$1,900.00
24	12" Sediment Log	150	lin. ft.	\$10.00	\$1,500.00	\$7.50	\$1,125.00
25	Trackout Control	220	sq. yd.	\$7.00	\$1,540.00	\$19.00	\$4,180.00
26	Silt Fence	1400	lin. ft.	\$2.00	\$2,800.00	\$2.00	\$2,800.00
27	3" HMA Apron	45	sq. yd.	\$51.00	\$2,295.00	\$94.50	\$4,252.50
28	4" HMA Pavement	275	sq. yd.	\$35.00	\$9,625.00	\$47.50	\$13,062.50
29	5" Concrete Apron	220	sq. yd.	\$60.00	\$13,200.00	\$67.50	\$14,850.00
30	5" Concrete Sidewalk	60	sq. yd.	\$59.00	\$3,540.00	\$67.50	\$4,050.00
31	7" 3-Day H.E. Concrete Pavement	200	sq. yd.	\$86.00	\$17,200.00	\$85.00	\$17,000.00
32	8" 3-Day H.E. Concrete Pavement	450	sq. yd.	\$90.00	\$40,500.00	\$90.00	\$40,500.00
33	Concrete Curb & Gutter	300	lin. ft.	\$40.00	\$12,000.00	\$50.00	\$15,000.00
34	Truncated Dome	40	sq. ft.	\$35.00	\$1,400.00	\$40.00	\$1,600.00
35	Temp. Traffic Control	1	l.s.	\$59,167.77	\$59,167.77	\$15,791.00	\$15,791.00
36	Flowable Fill	25	cu. yd.	\$100.00	\$2,500.00	\$85.00	\$2,125.00
37 Extra Stone Bedding		25	cu. yd.	\$24.00	\$600.00	\$35.00	\$875.00

Base Bid Total: \$877,777.77 \$913,163.00

Bid Tabulation X-22 Water Main Reconstruction 03/21/2022 01:45 PM CDT

Bid Item	Item Description	Quantity	Unit	PTS Contractors, Inc		Dorner Inc.	
				Unit Price	Item Total	Unit Price	Item Total
1	12" Water Main	1950	lin. ft.	\$114.00	\$222,300.00	\$130.00	\$253,500.00
2	8" Water Main	2850	lin. ft.	\$105.00	\$299,250.00	\$125.00	\$356,250.00
3	6" Hydrant Lead	60	lin. ft.	\$97.00	\$5,820.00	\$100.00	\$6,000.00
4	Hydrant	7	each	\$5,050.00	\$35,350.00	\$5,319.00	\$37,233.00
5	12" Gate Valve	7	each	\$3,950.00	\$27,650.00	\$4,267.00	\$29,869.00
6	8" Gate Valve	14	each	\$2,260.00	\$31,640.00	\$2,446.00	\$34,244.00
7	6" Gate Valve	8	each	\$1,635.00	\$13,080.00	\$1,754.00	\$14,032.00
8	4" Gate Valve	1	each	\$1,400.00	\$1,400.00	\$1,463.00	\$1,463.00
9	12" Bend	8	each	\$970.00	\$7,760.00	\$824.00	\$6,592.00
10	8" Bend	20	each	\$500.00	\$10,000.00	\$441.00	\$8,820.00
11	1" Service	600	lin. ft.	\$90.00	\$54,000.00	\$80.00	\$48,000.00
12	1 1/2" Service	140	lin. ft.	\$72.00	\$10,080.00	\$60.00	\$8,400.00
13	4" Service	30	lin. ft.	\$180.00	\$5,400.00	\$189.00	\$5,670.00
14	6" Service	30	lin. ft.	\$195.00	\$5,850.00	\$206.00	\$6,180.00
15	Service Connection	40	each	\$765.00	\$30,600.00	\$595.00	\$23,800.00
16	Curb Box (Complete)	40	each	\$405.00	\$16,200.00	\$304.00	\$12,160.00
17	Pav't Markings Yellow 4"	250	lin. ft.	\$0.95	\$237.50	\$3.70	\$925.00
18	Pav't Markings White 4"	250	lin. ft.	\$0.95	\$237.50	\$3.70	\$925.00
19	Pav't Markings channel 8"	100	lin. ft.	\$5.15	\$515.00	\$6.10	\$610.00
20	Pav't Markings Crosswalk 6"	20	lin. ft.	\$10.30	\$206.00	\$9.00	\$180.00
21	Pav't Markings Stop Line 18"	20	lin. ft.	\$10.30	\$206.00	\$15.60	\$312.00
22	Pav't Markings Symbols/Arrows	4	each	\$155.00	\$620.00	\$290.00	\$1,160.00
23	Type "D-M" Inlet Protection	19	each	\$103.00	\$1,957.00	\$100.00	\$1,900.00
24	12" Sediment Log	150	lin. ft.	\$7.70	\$1,155.00	\$10.80	\$1,620.00
25	Trackout Control	220	sq. yd.	\$4.60	\$1,012.00	\$20.00	\$4,400.00
26	Silt Fence	1400	lin. ft.	\$2.00	\$2,800.00	\$2.20	\$3,080.00
27	3" HMA Apron	45	sq. yd.	\$55.00	\$2,475.00	\$67.10	\$3,019.50
28	4" HMA Pavement	275	sq. yd.	\$55.00	\$15,125.00	\$67.10	\$18,452.50
29	5" Concrete Apron	220	sq. yd.	\$64.00	\$14,080.00	\$65.50	\$14,410.00
30	5" Concrete Sidewalk	60	sq. yd.	\$60.00	\$3,600.00	\$65.50	\$3,930.00
31	7" 3-Day H.E. Concrete Pavement	200	sq. yd.	\$91.00	\$18,200.00	\$93.50	\$18,700.00
32	8" 3-Day H.E. Concrete Pavement	450	sq. yd.	\$96.00	\$43,200.00	\$98.80	\$44,460.00
33	Concrete Curb & Gutter	300	lin. ft.	\$48.00	\$14,400.00	\$42.20	\$12,660.00
34	Truncated Dome	40	sq. ft.	\$35.00	\$1,400.00	\$35.90	\$1,436.00
35	Temp. Traffic Control	1	l.s.	\$14,619.00	\$14,619.00	\$17,684.00	\$17,684.00
36	Flowable Fill	25	cu. yd.	\$83.00	\$2,075.00	\$85.00	\$2,125.00
37 Extra Stone Bedding		25	cu. yd.	\$20.00	\$500.00	\$28.00	\$700.00

Base Bid Total: \$915,000.00 \$1,004,902.00

Bid Tabulation X-22 Water Main Reconstruction 03/21/2022 01:45 PM CDT

Bid	Item Description	Quantity	Unit	Carl Bowers	& Sons Inc.	Jossart Br	others, Inc.
Item				Unit Price	Item Total	Unit Price	Item Total
1	12" Water Main	1950	lin. ft.	\$138.00	\$269,100.00	\$144.00	\$280,800.00
2	8" Water Main	2850	lin. ft.	\$113.00	\$322,050.00	\$137.00	\$390,450.00
3	3 6" Hydrant Lead		lin. ft.	\$100.00	\$6,000.00	\$125.00	\$7,500.00
4	Hydrant		each	\$5,400.00	\$37,800.00	\$5,100.00	\$35,700.00
5	12" Gate Valve	7	each	\$4,300.00	\$30,100.00	\$4,425.00	\$30,975.00
6	8" Gate Valve	14	each	\$2,400.00	\$33,600.00	\$2,500.00	\$35,000.00
7	6" Gate Valve	8	each	\$1,900.00	\$15,200.00	\$1,800.00	\$14,400.00
8	4" Gate Valve	1	each	\$1,600.00	\$1,600.00	\$1,500.00	\$1,500.00
9	12" Bend	8	each	\$1,100.00	\$8,800.00	\$1,075.00	\$8,600.00
10	8" Bend	20	each	\$600.00	\$12,000.00	\$500.00	\$10,000.00
11	1" Service	600	lin. ft.	\$100.00	\$60,000.00	\$115.00	\$69,000.00
12	1 1/2" Service	140	lin. ft.	\$120.00	\$16,800.00	\$110.00	\$15,400.00
13	4" Service	30	lin. ft.	\$140.00	\$4,200.00	\$115.00	\$3,450.00
14	6" Service	30	lin. ft.	\$161.00	\$4,830.00	\$125.00	\$3,750.00
15	Service Connection	40	each	\$1,000.00	\$40,000.00	\$800.00	\$32,000.00
16	Curb Box (Complete)	40	each	\$500.00	\$20,000.00	\$800.00	\$32,000.00
17	Pav't Markings Yellow 4"	250	lin. ft.	\$4.00	\$1,000.00	\$0.95	\$237.50
18	Pav't Markings White 4"	250	lin. ft.	\$4.00	\$1,000.00	\$0.95	\$237.50
19	Pav't Markings channel 8"	100	lin. ft.	\$7.00	\$700.00	\$5.25	\$525.00
20	Pav't Markings Crosswalk 6"	20	lin. ft.	\$12.00	\$240.00	\$10.50	\$210.00
21	Pav't Markings Stop Line 18"	20	lin. ft.	\$13.00	\$260.00	\$10.50	\$210.00
22	Pav't Markings Symbols/Arrows	4	each	\$275.00	\$1,100.00	\$160.00	\$640.00
23	Type "D-M" Inlet Protection	19	each	\$100.00	\$1,900.00	\$105.00	\$1,995.00
24	12" Sediment Log	150	lin. ft.	\$20.00	\$3,000.00	\$8.00	\$1,200.00
25	Trackout Control	220	sq. yd.	\$5.00	\$1,100.00	\$20.00	\$4,400.00
26	Silt Fence	1400	lin. ft.	\$3.00	\$4,200.00	\$2.05	\$2,870.00
27	3" HMA Apron	45	sq. yd.	\$50.00	\$2,250.00	\$95.00	\$4,275.00
28	4" HMA Pavement	275	sq. yd.	\$53.00	\$14,575.00	\$45.00	\$12,375.00
29	5" Concrete Apron	220	sq. yd.	\$58.50	\$12,870.00	\$61.50	\$13,530.00
30	5" Concrete Sidewalk	60	sq. yd.	\$58.50	\$3,510.00	\$61.50	\$3,690.00
31	7" 3-Day H.E. Concrete Pavement	200	sq. yd.	\$85.00	\$17,000.00	\$90.00	\$18,000.00
32	8" 3-Day H.E. Concrete Pavement	450	sq. yd.	\$90.00	\$40,500.00	\$95.00	\$42,750.00
33	Concrete Curb & Gutter	300	lin. ft.	\$40.00	\$12,000.00	\$42.00	\$12,600.00
34	Truncated Dome	40	sq. ft.	\$34.00	\$1,360.00	\$36.00	\$1,440.00
35	Temp. Traffic Control	1	l.s.	\$30,000.00	\$30,000.00	\$15,000.00	\$15,000.00
36	Flowable Fill	25	cu. yd.	\$150.00	\$3,750.00	\$125.00	\$3,125.00
37	37 Extra Stone Bedding		cu. yd.	\$30.00	\$750.00	\$25.00	\$625.00

Base Bid Total: \$1,035,145.00 \$1,110,460.00